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1. Give the correct [IUPAC name for the following alkenes.
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2. Draw the structural formula for the following alkenes.

a) 4-ethyl-2-methyl-2-hexene b) 3-ethyl-2-pentene

¢} 2,5-dimethyl-2-hexene d) 6-methyl-3-octene

€) 2-chloro-3-methyl-1-butene f) 2,3-dibromopropene

£) 2,4,4-trimethyl-1-pentene h) 3-cyclopropyl-2-pentene

3. Give the correct ITUPAC name for the following alkynes.

a)} CH;-C=C-CH-CH,-CH, b) CH;-CH-CH,-C=C-CH-CH,-CH,
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4. Draw the structural formula for the following alkynes.
a) 3-heptyne b) 4-ethyl-5-propyl-2-nonyne
c) 2,2-diamino-5-chloro-3-hexyne d) 3-cyclobutyl-1-pentyne
¢) 3,3-dichloro-4-cyclopropyl-5-propyl-1-cyclohexyne
f) 2-chloro-6,6-dimethyl-3-nitro4-octyne





